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Choose the correct answer :

W% o001 AR Tferea

w7 Tedlb @z e . ERE
T+ e aEa’ '@
H‘s‘imgﬁm:

1. Addition of aqueous solution of barium chlori.de to a o
of sodium sulphate results in insoluble barium .sulp'hate an .
solution of sodium chloride. Which of the following 1s the correc

balanced chemical equation with state symbols for the above
reaction?

@REN F'IRTT SO w9 TN wEiwed wan g (J5 PR Fero
T R RECED W % T AR 7 2 24 | T RIFR A
TR (FIC01 SRFI-foTR Tafere AN wE ¥ ?

RN GRRTeY SO ¥E @3} G STecwod Ta 49 I IR T
S (RN TECES @R (RN @RIRSY w1 2ge =@l | T Rigmie
T AR @ S1TI-fomTR STEfere e W 201 ?

AW TR e o tae wfeam gethes fEAAE S ity
SfEm Gehe AR Gieam o el niviea amfseEE | 9 R are
TRl T sl R arree Tamyg e W SeE?

Jfem FERse F faema w1 Aifsan wete % faema & wiy em & weras
e afEw geke 3 Aifeam wivge = forems ww e ®1 3@ rfafen &
fore e o @ -1 sraeen-fug wfta o wgfe wamafe it 27

" BaCl (aq) + NaSOy4 (aq) — BaSOy4(s) | +NaCl (aq)
ok (B) BaCly(s)+ NayS0,4(s) — BaSOy4(s) + NaCl(s)
' (C) BaCl y(aq)+ NagSO4(s) —» BaSOy(aq) +2NaCl (aq)
}) BaCl g(aq) + NagSO4 (aq) — BaSQy4 (s) | +2NaCl (aq)

2. Which of the following does not involve a chemical reaction?

o (FICOTS IPT fRferan o1 12 2
foare @Fivce Irmte R woR 2  EmE
TEA AT TERATR e saa? S .

queous solution

& @ fored vamfe sifvfsrn € Sef? .
(A) Digestion of food / 3T X (M1 / I T&q 287 / AR T S /
IS T geT
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Respiration /¥ / 979 / g™ / a6

(©) Burning of candle/WWﬂ/WW/Wﬁwl
- Aerell h e

Melting of candle / TRIf® &1 / (TRRIFS &7 / Tt "'Iﬁﬂml
ATEh F T

- 8. Which of the following laws is satisfied by a balanced chemical
reaction?

b1 >TfETe PR R S/ e @ W 5 2
3> e TP Rt e @ @b oo 5 2

Y TG TR R memt 1 ) e S
T Hgferd Tamie e e § @ fre frm ) aee e {7

(A) Conservation of momentum / S¢35] ATl /
SRR THHeTe! / Memat M A9 / 93 % e = fam

) Conservation of mass /I3 IFeT0l / S T o] /
TR SO / S99 & GRE9T 1 faw

(C) Conservation of energy / *I[&q I / I THIRIeTe! /
WiehfA SR / STl o HRE ﬁzm

D) Conservatlon of density / 98 TS / TG THeTO! /
: TNl S / o7ea % weeon 1 Fram

4. Which one of the following is olfactory indicator?
©od (FINCH! HCAES 6% 2
frare @mb g pe?
TEER e WAmeng R Rerm?
a1 % @ FF-u1 v v gEe |7
(A) Litmus / i / Biowm / foreama / forema
(B) Turmeric /28 / TT¢ / T / T

Vanilla / ¢t / snfae / Sfven / afen '
(D) Phenolphthalein / R%caRm / Rereca®m / R wifm /
B24-GS/103B _ _ [ Contd.
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6. Metal oxides are S
{roq SHRSER 2 |
Y1$q SRSl 2 -
o Ay
acidic / &S / wfe / wRiganit / vl
(B) basic / ¥R / FAFW / TREAR / A
(C) neutral / 2 / 2 / Ae / {9
(D) None of the above / @] «516 720 / Lo «@bs T/

| ey e o1 / I A A e T
E 6. NaHCO3; and Na;CO3-10H 0 are commonly known as and
‘ _____ respectively.
| NaHCOj WF NaCOg-10H 20 < SRS Fecd 9
A T |
NaHCO3 @R NayCO3 ‘10H 50 (3 FHRTe FAEE aR
@l | ' o
NaHCO3 3R NayCO3-10Hp0 @ WeamE i Sy
Tafemn) _ y
NaHCO3 31K NayCO3-10H,0 T VIR SHa: v
F W ¥ I S B :

J washing soda, baking soda / FR (4R1 &I, (AR 2"l /
, FIoTG (4 Corel, @& GeTrel / fa-gm w's1, afs @'/
* 1 1 Hie1, Sfm |t
baking soda, washing soda / @R ®’®l, IXAR CYRT 21 /
/E)/ @@RE @R e, e e e/ 3 ', R-gm et/
A ‘ E% AT HieT, ¥R &1 Gl
; ' (C) caustic soda, baking soda / F'f8% T, @R 7'/

I G, QR ool /% s 3=, s g’/
. Hieah AT, afFT dre
(D) ‘baking soda, caustic soda / @R 2%, %% g'u/
AR T, F65F ETrel /9% 1S, %' 7w st/
' A |iel, wikes drer

g - gmer
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7. Consider the following statements regarding tooth decay :
TR CFAS Sorq SRETR51 oo <1
TR (Fea e SReaf Reas 3 - 0k 40
I G T S TeEh ghw Bl
-8 % & ¥, Fr wort W Rem SR
() Tooth decay starts at a pH lower than 5-5.
PH 3 T 5-53 ©518 2031 vomm o = |
PH-<R TR 5:5-«% N5 2051 THGER o1 = |
PH R 7w 55 figz @n e gt s’ sy
%e % pH #1 WM 5-5 A F9 81 W <a-49 RN | S B
Tooth decay is caused by phosphoric acid which lowers pH.
F'5F < «ftcs pH 9 T 9 9] A3 WEFY 2 |
TFRE IBS pH-93 T I I T 70 = |

0% i tRrer pH N 1 @n aemri gae eeh s
il

Zq-&70 FIOHING 3N & RO Bl & 3 pH W 9 = a1 B
Which among the following options is correct?
O (I R0 o 2
Aesn @1 el w2
MERH WS G T 67
= 1 & F-an frere Tt R7

) (1) is true and (ii) is false })/(i) is false and (ii) is true
(1) 3T ¥ (ii) 7o) () T I (ii) STe)

(i)

(1) 377 @R (i) PT) ERE (i) SPT97 @R (ii) 3T
(i) 4R IR (i) TR Ol te (i) TR 3R (3i) R
(i) 9& & 3K (i) T R (i) Tera B SR (i) T R

(C) Both (i) and (ii) are true (D) Both (i) and (ii) are false
(i) I (ii) B! 37 (i) S (i) YEAD! SPTey
(i) @32 (ii) 4% 51 () 9 (i) 7% =°Te)
(i) 3 (ii) AT 9K (1) M (ii) AN TR
@) 3ir (i) I v & (i) 3R (ii) Fmt o &
B24-GS/103B
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8. Which of the following metals is the most malleable?

A (FICO! SBRSF NSTZANT 4P ?
fFare @Rt SR e 419 2
e A Fafgga Semsesm Uig?
7= % | FR-H uig T e smamad 87
(&) Sodium /®f¥wm / T / afeam / @i

K Iron / SR / SRR / ST (WR) / et

Gold / G191/ G711 / &1 / |

(D) Copper /3’*q /TR (ST / AR / af=

9. If metal A displaces metal B from its solution, then
T A 190 B 4195 3R T R SRS I, (ofe
T A 413 B 41303 X7 T3 (AT NPT A, O
IR A g B argi TR S a, e
IR UTg A, U1 B F 36F fow A Rrefa et @, &
% A is more reactive than B metal /A 419 B3 (3R ferq /
A A 43 B-7 CW@ﬁﬂﬁ’rﬂ/Aﬂ@mBﬁTgsaTﬁl?m/
A uig B @ i afka @
(B) B is more reactive than A metal /B 419 AS(S (MR e/

B 413 A-«3 (3 A e/ B uigan A Tagz =ifem @imi /
B urg A 9 1t wlra &

(C) A and B metals are non-reactive /A SI¥ B 4TS fery 1= /
A SR B 413 T W/ A aTrﬁB qTgen |t ST/
- ugAMRBIFtufRmaEiE

(D) A and B mietals are equally reactive / A SIF B 419 S Serd /
A G B 49 AFCKR AW/ A 3 B uigat 91 | /
urg A 3iR B <M wue whe &

:10. Cinnabar is a sulphide ore of which metal?
(FITO! 413 RAPIRS TS 2’5 BARE 2
@A 41Pba STeTeiRT SRRE Zg=1 FarRE 2
A AT WIAEES HEHET e fReER?
Rew 5\ uTg 1 GewEe 7w 27
' (A) Copper /3 *[{ /3R (SM1) / F9R / FR (atar)

: B24-GS/103B g [ Contd.
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: Mercury /SR (=) / AR (o1 / Wi (awr) / =k ().
(C) Aluminium / ¥ / sy / Tgfifm / dghfam
(D) Iron/wf3gw (C&) / SmeA (Cory) / 31T (WR) / |

11. What can be the maximum number of sulphur atoms present in a
molecule?

IO R S ST D1 oFIe W 3?7 e
I TR WS T B oI WS A 2 %%
TE ST TR B 339 T 9 e '
TR & T Ty & werifs R T @ w8

A) 2 (B) 4 Y 8 . (D) 10

—_—

The name of a compound containing three carbons and aldehyde as
functional group is

fof01 I o wefbalie TR e <@ @ER AW 2]
T T @22 ez TR T A AT A =3
HHAT e R TETERe AEyRaE aHr Wi g wmim
T Fe oiv Aceerse waEioE wg A D @ am R
(A) propene /2’ / confom / wit= / O

J propahol/ﬁ"'ﬂﬂﬁ/(ﬁ"ﬂﬁ/m/ﬁﬁﬁﬂ
(C) propane/ &’°M / (ARA / T9F / WA
(D) propanal / &’ A= / (AT / TS / WA

12,

18. Which of the following statements is true for an oxidizing agent?
| RS LR (IS S SR T T 2
GRS M (T (e SfeslE @m e 2
SfRTE TR Ve T SRR Y
AffERes & a7 #, 7 T § |H-91 w91 g 27

(A) It gives hydrogen. (B) It gives oxygen.
% Ry e e | OF0 % Sf¥eea fe
ot TGS oW EIRE afo sfdeem om)
4 TIEgSA Bl N R B
g BIFSISH <l B Tg SAiedisH a1 B

B24-GS/103B - [ Contd.
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y/lt takes oxygen.

' % Sf¥cee o |
9t SRS G|
N IR TR

J8 TS T80T T B

(8

i
e

)

(D) None of the above

o] B8 T

oA qIoe T
A FE T
I # A S T

14. In the Periodic Table, which of the following properties increase
from top to bottom in a group?

RJE SIS B FICH! 4ol 35 GBI @9[[F #[1 Tt AT ?

fge wIFIce Nare @ 16 93l 305l Tom (s Aesd e AT ?

TR 9@'WEAE TRER TR 9Rmen g WeeEE ISEwE TRy

T

aad aroft 3, f F & -3 oend g § IR @ A= AR T 87

(i) Valency / [@IETel / (@ISTS] / SREEINY / GIISRAT

(ii) Metallic character / qroa% @/ QoI @< / UTGATR ITGATS /

yrfeerah o

(iii) Effective nuclear chargé / IR TR = /
IR A Sy / A Wi FefEEw ar / wh fiehe s

(iv) Atomic radius / *R19fF TN / W‘iﬁﬁs [ee /

(A) (@) and (i)
(i) = (ii)
() @ (ii)
(i) AR (ii)
(i) 3R (i)

(C) (iii) and (iv)
(iii) ¥ (iv)
(iii) @R (iv)
(iii) 3R (iv)
(iii) 3R (iv)

B24-GS/103B

B

EZE

%(ii) and (iv)
/- (1) = (iv)

- (i1) 92 (iv)
(ii) A (iv)
(ii) 3R (iv)

(D) () and (@iv)

(1) ¥=F (iv)
(1) 9 (iv)
(i) 3 (iv)
(i) 3K (iv)

TEEERE @E /
- oy B
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15. Element X forms a chloride with the formula XCl,, which is a solid

with high melting point. X would most likely be in same group of
the Periodic Table as

(5 X0 XCly Feaeq &3S o5 303, R T S «@b1 (a1 = |

7 X R @FOE Oe e O[T @bl S IR FoRA

RTINS @R 2 | :

(e X, XCly ALRCS GPRZS 5157 I3 | b B SomIgsa Gl 9 e |

ccjlﬁaxﬁm @R e ~fige ofre 3% o AR FBRA TR (W
17

‘Jﬁgm. X 3 XCly, v 1 'T5e amiE | 99 e T R e
TATAT| TR X N TRER ARi ok iR gw'Tnh @ s
DICIDIERCIDIcE o) HRA?

= X, XCl, g3 9Tc T FANGS a1 8, S UF 39 & au1 Rrdept TeF s
feres ) Tt wwoht & X dvea: e e % sfwla e

2*)’ Na (B) Mg ©A (D) Si

16. A spherical mirror and a thin spherical lens have each a focal
length of —15 cm. The mirror and the lens are likely to be

G TEFR TRAT S 93 R (TR GRR Ao IR Ol
~15 cm. A F G 2FfS (FFa1 T3 °II ?

G (TR 7ofl @R B N (TR G ATV FRFT oy
—15 cm. %o @R (0 & 40T 20O g ?

TR R I IR T W GER A AR TR ~15 em. AT
I T STRGUTEAT T A BT ?
T T <0 7o T e e o, S 6 W g 15 em 21 2w
AT < it THa = DA e RY
(A) both convex /TR T&A / 762 Tee / e @an / 1 I
(B) ' both concave / {TH{N SR / {63 TG+ / T TR / A 1"aqw
\y{ the mirror is concave and the lens is convex
IR SAos ST (TR Tee
 wefafb SR R o T
AT TS AR -G Gl
Tqu 279 B IR T 3Ta ?
(D) the mirror is convex and the lens is concave
WICATRE O&e] HIF (=Y Saee] '
wofeft Test @R (L S3we
AR TET IR A=A T
2407 v ¢ ofR o orEaa B

B24-GS/103B [ Contd.



( 10 )

17. A boy is unable to see objects when they are .placed 17 cm ffl"om his
eye but can see objects beyond 40 cm from his eye. This defect can

be corrected by using .y -
OB IR (969 5 *RT 17 em RS T 7 (731 TR 19 (9T 5T
40 cm®LF S Fage TR I3 (71 W | G T WER R AN

43 (A OW GR (WF 17 em AT AN T (4CS W ARG OR 1
(T 40 cm (V0T T Y AT I (TS W | 9 o CTHAICA (0O
Al

TR e Al T AT 17 cm SRR @ifeTE SaRE! A A T19E
fafy YRREE 40 cm TRuEEE T YERE oA TR
HIETA T

T AgH A 3@ A 17 em A T W w@h TgeT B gEE 76 @ I ¢,

WY I @ F T 40 cm F 1 T W TE TEget F gEE ®9 4 W@
T 81 39 39 A W FA F g frm # @ e o o swm W o 87

/convex lens / T&& (g I9TQ IR/ TS @75 3979 I/
g - T & FREAN [/ 399 o

j concave lens / @ (R IR TR / Hq@H (5 IR A /
| Gl W RN [ Ead o

(C) bifocal lens /f3-%'3F% Az IR IR / RB-FM @15 921 F1 /
A-% F M o TEEAH [ e o

(D) contact lens / =f{ez IR FR / ©Me IR IR/ BT
_ A TREAN [ Sy o

18. The image formed by a concave mirror is observed to be virtual,
erect and larger than the object. Where should be the position of
the object?

TqOH AT YT 518 T ARSI R, [0 9T TEREes Te ¢
e | THREI TEA F°C 2'F A7 2

b TR@ 7o TR oo T AR e, 28T q3e TwRT (AT IT 1w
CoFFT | STFIER SREM (1AW 267 Tfoe 2

AHEE | TR G et gegE s 9mE?

B24-GS/103B , [ Contd.
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Tt fm w1 aaaw <dn g0 a wRfm e, @ qn e @ =9 wmn
| a%g <t fRufy wet B =Rl

‘ % Between the principal focus and the centre of curvature
T TR F S R4 TS
T R GRS AT W S
TS ) G el e
T HIHH a1 Tl 3 A4

(B) At the centre of curvature
S (FHS
. S [E
T e
" Rl S W

(C) Beyond the centre of curvature
O (FEF RIS
TR FRAR | o

(D) Between the pole of the mirror and its principal focus
TR GTF S O] Y TR TS |
| Wl (T 3R O 3 (FIRICT W
ST 3% R 3 T R N e
0 F YA U T FiHE F A Z

19. In an experiment, the variation of current with the applied voltage
for a conducting material is obtained as shown below :

R SR GO (FIT AN ARG A I SrHed 7T <iRafds Re
ST {430t (ot o

«fo ~1fAAMR ©ICRA (TR TN RIWICS AT F41 SCHeer e <R Rige
fAame e e oo

TERT TMEME BHE died AFa

B24-GS/103B [ Contd.
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@mﬁ,mmmmmﬂﬁmaﬁmwﬁm
%1 T = e TS R

A
Voltage (V)
S
g0
mm A L
iﬂ : Current (I)
R
e
ifeerd GIER
fagq

Which of the following conclusions is/are true about the conductor?
wore YRS @ B ARIRTR cFae ey 232
frare @ e «fakifte ova o1 =3 2

TR T T 7 G & Serme 9r) S’
I for T weEl § @ wR-T/A Tow $ g T g8

' Z;;f/ Current increases linearly with the voltage.
e Tee e (aRTere 9% 23 '

SCeheed e Rge AR 3 =@ |
eSSt Hifectal JTERT BRATIRG FH |
fenFarieR & W et Waeh w9 A forgg-vm & g Al

(ii) Resistance is different for different values of V.
Vifta e cvae @y feng’ar ERRE
V «7 1 Mieaw oFea (Y fon =3 5;%
VR TR TR AR SarEE g9 ER EA S|
V & faftm amt & fog wfedy - g

(iii) The slope of the graph is same for every vaiue of V and I.
V I I AT ] CFAS AT 23T GGF |
V @R 1 2A001F TR CFCh AT 2A3979] G | ' —
V 3R I HTh HH SR T (S Seramn @
V 3R I % 900 7R % e a6 < zem (W) v Ay

B
B24-GS/103 [ Contd.
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+ (&) () only /T (i) /W () /() 3/ Fa@ (1)
(B) () and (iii) / () =& (i) / (1) @R (iid) / () 3R (iid) / () 3 (i)
(C) (ii) only /< (ii) /7@ (i) / (ii) =’ / ¥ (ii)
(D) ) and Gi) /() 9= (i) / () @92 Gi) /(@) 3 Gi)/ () v di)

20. Which among the following diagrams correctly represents the

current-carrying wire and the magnetic field associated with it?
Rpe 2R S qorR e RS BT CFaIE wo TS R O TR
Ao fRaete 2Ra 2

% R AR o et e Giwe cwal® Mes e @ TG
SRR TR I

AR IR W TR GRS DAY W g e TeeE TEE TR
ETREn e ffRma?

ﬁnﬁﬁaﬁa-mﬁaﬁmﬁﬁmmﬂmammmmm
&% =1 T Fream e #7

@) (B) zﬂ/ (D)

21. Which of the following correctly describes the magnetic field near a
long straight wire?

SR @FOIE GOF (o, Tea SRAR SR SR IS (Fa WHSIE 3961
A7

Moq @l 9 oI, T R oI Feda Bie oFa wEeid I
A2

TRRER 7™ 3R Al Mas R TR Tl g air W JRae

e # A Sa-m Tt o9 gy yroerE TR % e g 8w W wd 9
a1 27
(A) The field consists of straight lines perpendicular to the wire.
CFQY SROPR F7F TR 912 |
crafs ©RbA o7 FTREEIN Sie |
wiferan arf 4R Mt grE SHE |
e & i 8 YT a) ¥ T 3§

B24-GS/103B [ Contd.
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(B) The field consists of straight lines parallel to the wire.
| (RN SACER FEAR SR S | '

m%manﬁ%ﬁ*ﬁvﬂsi@sﬁmﬁml

&5 6 &7 Tart ar F R g 2
(C e field consists of concentric circles centred on the wire.
CRAA SHOFR (TS 4F] GRS 80 oS |

cwafd SR (FE A GRS 308 oS EE
wiferan arf fram amm AfeaTR SEAs TsEE | E@
ﬁﬁﬁﬁ & B THA & Y@l 1 FE R A B

(D) The field consists of radial lines originating from the wire.

CFAY SRS °f1 el Rega sRRAR =i e

cFa R (WCF (W 28 I AR @ S

AR aRFwE TErE AreR SR i gidsl g |
e &7 4 & Yand 3y At & R Iwa ar & € B

22. The human eye forms the image of an object at its
TR A IB B 2AfSRT 07 TR TF 27
T (1Y (b T8 2T 1o FIM B 20l
AR T R AR q aE SRR arEh
Aa 3= fm s @ e g w1 afafse s €, v R

(A) iris (B) pupil retina (D) cornea
531 ol 534 114 Rpelb Bt
| fsfta el . v

28. Why is the colour of the clear sky blue?

T SR AR Nerr w2

ARG SR 78 Tl (31 2 - ERRE

i i i T e w7 %

TS AHN F T e 4 a8

(A) Due to reflection of light / (IIZF9 AfSFe IR / SR
MW/WMW/W%W#W




(156 )

% Due to refraction of light / (9@’ Af$7ReR R / AT

—

24.

25.

26.

MNuclear energy / R@w e / EFw RS / Txmmi wiw

AT & / Wi RfFEAmf aram / Yo & 79adA & SR

(CJ' Due to scattering of light / (933 RTeIeR ¢ / SCEEA
Rewonem w1 / Wil | Mareaf grEm / yam % vl & S

(D) Due to atmospheric layers / IR TI AR / IAGTTA T
T / TRATSH EiEi ATE / AgHSed ®/R % SR

Which of the following is not derived from the Sun’s energy'7

T (T R CTafe sy w7 o
RS @ *fe s sy G
e T T aF-nief freme Tt

=1 % ¥ Fm-h oot Ok =i w s T 27

(A) Wind energy / 3 *f% / 3R *f% / aR Wit / 9o Sl

(B) Geothermal energy / $-o1Fw *f& / -9y *f& / yu-fag wife /
\gﬂ‘ﬂwsﬁﬁ

mﬁaﬁam‘i
(D) Biomass /&%= / &igeq / fa-Hdmai / 99 7w

1kWh = joule

1kWh=___ 95

1kWh=___ &

1 kWh = I

1 kWh = S[d .
(A) 3-6x10° (B)3-6x10°  (C) 3-6x107 M&GXIOB
The SI unit of power of a lens is

= FTOR SI &3FF A o]

TR o) SI 933 =l 28
St TR SI g SEd

ww oig R gmar = SI B
(A) joule (g?:zptre (C) ohm (D) ampere

o TR’ A e «fRomy
vl TTFIAR 3 TEER
5 . TR Aqm i

B24-GS/103B [ Contd.
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1.602x10~18 5 (B) 1.602x1071°J

(C) 1.601x10°17J (D) 1.601x10716J

28. Ozone, at the higher levels of the atmosphere, prevents

! IS T TS ' A1 fieh

| IAFSTER T W S(EH I O EnE

TRATSTHR TATE ARPIATE 2'S A37 Fo Bt g%ﬁ‘

e & ) T i e 8

'3 (A) infrared radiations /SRR R / SReanfze [fda/ @n UIE
{ HERATE / $HRe Tt
5‘3 (B) visible light /75 3 / 5 3%/ 318 U / gawH W

| Pl UV radiations / 9f$ g IR RiFa /s @em afim RiFaa/
il ST RS T AR / et ffeeor

(D) Both (A) and (C) /%=y (A) 5% (C) /T=H (A) 932 (C)/
: A (A) M (C) / (A) 3R (C) &t

29. Which of the following is not a renewable source of energy?

eTe Wl (FINCO! *eq FATATen T 7=w 2
- fRare b e R T3 W 2 %
TEMEMA AT R8T BeFe wiel gar 717 =
= & @ FF-w I 0 A TRl A T 2
r . (A) Sun (B) Wind /L{ Fossil fuel (D) Wéter
5 AT SR w
i | i T mm ST ST 2
o M et L S
! B24-GS/103B [ Contd.
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( 17 )

The source of the formation of coal and petroleum is

TN S Coff o s1ees e '
I G CORTITE S5 B 7ol
S T YRR F 9 =1 6 ’ngr?]

(A) coliform / Ffre / T / Hiemw'd / Hieiwm

1B biomass / &res / &en / fra-Are /4 7T

31.

‘7(8{ greenhouse gas / GIS&9z ("% / &R TF1 / W@ FMem /

ieRy (duR) 4
(D) ocean water / TRPIUS *1M / TRPIHF & /AqmT? [/ FEETTE A

From the energy flow diagram, it is confirmed that the flow of
energy is

& oAz AT IR 1 b1 941 =8 @, *&7 2@ TWH
*RF 2[R aRT for (e 36 3 =02 @, =f&w o

i SRl TEenik gEmiEEE B T @ R, wiel S

Tt yaTe ¥ Waw i ¥ 1 frg 3 & F5 = /1 yoe w%E

/@6 unidirectional / %33 / ¢332 / Arirare / THyEh B &

32.

B24-GS/103B

(B) multidirectional / 379 / ITG / IHE@TSTR / TgE! Bl @

(C) upward in air /IS SHT / WS SHER / IRE MA@ /
. a1g # SR A 3R BT R

(D) downward in water / *AI® B4R / &esl WY / 3 TEE
e / 9 & A= F R dn B

4 DE
i 4 TR
= &
v

An electron enters a magnetic field at right angle to it as shown
in the figure above. The direction of force acting on the electron
will be

oae YeIR W, B FEAZT 9P O (A4S OF ATSd CININR |
e eeFo foFm 9 TR 1T

[ Contd.
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e I TS, I XA GIH GIF (A OF AT AT FCAR |
XEAFE 8oftd form 1 I e =3

FramiaT R TR A e A g aTEE af 4 gEeet |
TAFA TEE UR GETEE et Rren A

firm # wwity orgam, i s e g A 7 & ¥ e e @ 2
T W NG w6 e e I

%&tf to the right / GIReiet / Srfice / a1 R / 38 3R Z
(B) to the left /q1$TEH= / Afics / ATIRI i@ / a8 3N
(©) outofthepage/m?ﬁ?ﬁ/mmﬁﬁlmm/

HITS Y ATER N AN
(D) into the page / *BR f¥eata / *pr foeq fice / Rramf fawra /

Fre # ffar Y R

33. A current of 0-5 A is drawn by a filament of an electric bulb for
10 minutes. The amount of electric charge that flows through the

circuit is
51 (PR AR SR 10 RS swe 0-5 A 2@z o[ | I8 Hifere
a1 e SaeA #ffe =’

3 (apfes acEd o 10 R A9 0-5 A R T | I$AMMoes wifere
REY (APRET TYCTA ARG 23 |
TR MR e aran 10 fifie @9 0-5 A Aifsea SRR 4| dieaaEaE
Aea AifsE i foare smie

et frg wew % dg § @ 0-5 A Tga-uma 10 e o yanfea @t @1 fregg
qftgy § yafea fega 3mam 1 i g e

(A) 330C  (B)310C (©) 320C _AB) 300 C ;
&

34. Amoeba engulfs food from its surroundings and forms a food
vacuole with the help of the

GfiRfE O/ BME R T RIS M1 R I TF W RfSwR
2 T |

ST O BRAPT (F -~ TR I R R R 9% B
FA | — -

ofrarn Rft effifmr Y Yo SRR Y s
T Qe | | T SR, ST
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I R wema A AREE w9 @ oieE Tew wa @ ok @
Teiem s@mn ®)

y pseudopodia / Fb°M% / FboK / F@™ A / I (F2ZIR).
(B) cilia / fofemm / fifern / fufern / faferan

(C) flagella / Greerst / Ficsen / TSl / SHuTEH
(D) tentacles / ™ / ~opfas / e / 5

35. Xylem tissues of the plants are responsible for

TR wiXew I9R Wiy 2
AR Sgem faemf e s
TR % AW Fdeh H FH 8
%ransportation of water / °1719 *f{32el / Tem #1fA= / & A /
EREEIRICES |
(B) transportation of food / I #fR32e / ICHIA 2T / SRR WTHE /
WIS =1 IREEA

(C) transportation of amino acids / @<’ «fRw k32 / smfscn
PSR “if{azs / A’ ufte AR / Tl arv w1 aitEas

(D) transportation of oxygen / e =Rz / s R /
fReH WA / STeeisH 1 aiEe

86. To drive the reactions, endothermic processes in the cell use
@Fe ge’qie i Swive $9[ AW @I IR IA |
@A e Rim wiwibe IR w0 R I3 IR |
Rrafgama RrggEm fFeTaEeR STEAER ar@m it TEA|
R FeTEE TR i wfea FA § Fa wm Wt 27

u%1/;;1)p /a{) ATP  (C) AMP (D) CO,

CRCAL CRIAL CRCCALE I SEEFHES
CRCAL S 9.5 Q.95 f4. PR SRS
o RR v R . . w. f. FIEH SRIFTS
To o dio To o Hio To TWo o FEA RIS
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The gap between two neurons is called .

LORERARERIEE i R RICEs @ 2 |

b SRR Ty e T |

LIEEREECE R SNERSIGES Dyt S i T

A it SRR S FRE R R FE €

(A) dendrite / (oG / (SGIRG / g1 / FHeA!
synapse / ®IXA% / SEmep / A / R

€) axon /O3 /SN / A [ dEEE

(D) impulse / 2R/ 2R / =iy / 37@m

Which of the following hormones promotes cell division in plants?

T (FHRY Bfew [N e R RemTe 7w @ ?

Fare @ tfen zam SRvR R e 1=/ 3@ ?

TR 7 T ARE gwHe aR%i i meammE 7ee aem?

= % A FA-T ey T edl § iR e o | war g
Cytokinin / 35 I / RO / A5 wfAa [ Sg2iia
Oestrogen /%3’(o / XS / 38 SH / TRISH

(C) Thyroxin / A"/ YRARA / ar 'R / uratifaeq

(D) Insulin /%RA /TPlfem / Fgiem / gk

Some of the voluntary actions like walking in a straight line, riding

a bicycle, picking up a pencil, etc., are controlled by part of the

hindbrain called

fegm aftes a0 @A, o B @We (Iw IV, SREE SeeE, (ot
T 491 o fREge 41 POl IRF Wbl 2e

F AfvRE IR T, @6 G @I Eo1, AR SECAl, 96 o
(1 Tonf e T4 2roIk TR B =@

ARE TR AEGST g SR A Mt g A,

AR T FHA TR WHATN I T R WEE LY

Fo frsil 9@ ok 9l Y@ § o, efee s@m,
=1 T gramferss & fFa wm 4 9 27 e v g

/% cerebellum / (6fR3 / GIfRTE=TN / Aftemy / gafars

cerebmm/ﬁﬁﬁ]ﬂ/%ﬂ/ﬁm/m

/(/2? pons / #<b / 7/ 94 / 9T

B24-GS/103B

(D) medulla/ﬂ?vn/ﬂ?ﬁl/ﬁgm/ﬁgm
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40. S;ngle-celled animals like amoeba reproduce by the process
5 .

—————

TR T I A e A 2 I
SRR 1 e o ofem W o 9 |
U i Ao Reenfon s s

N R R A R

binary fission / f3-Retem / f3-Rewem / 3 dramemm / fg@sT
(B) multiple fission / Tefisrem / IgRewem / 7 QraET™ / TgEH
(C)  budding / YFeamem / geeimsr / ¥ @A™ / g
(D) fragmentation / Ressm / Rew / @R @emAE [ T

41. The anther contains

, ERE
]IS _ T | %%
YIS T | :
TEN @UE o

TR 3 B & |

(A) sepals / @B°IS / e / Rraw wrsfa / mereat
(B) ovules /5% / fo5s / fefla/ diwis
(C) carpels / Hce [ / Ricwa / el @A / 379

. ‘%poﬂen grains / *R191C39 / *RICAY / TEAT THIER / T

42. Which of the following is not a part of the female reproductive
system of human beings?

| TR FICHT TR TR R B ST S AW 2

AT @ S T (Rd Frewe SCaa S 7 2

ey T ien AR R St e frarfRAf awel Tt

= A F-9 A d ARG I A AR -

(A) Ovary /foarm / Roarm / R’ / sierm %

(B) Uterus /3R /w3y / frara’ / miiwm O3
%Vas deferens / SFAR 79N / SR A / AR 1A / JEhanmient

(D) Fallopian tube/ G PR o / FICAIPRE R / et o e /

' B24-GS/103B - [ Conta
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43. Find out the analogous organs from the following.
| woTe fran TR e AR Sfrean
Al wRivs s @ e iy
el s |
= % 2 e o @ v

J Wing of a bat and wing of a bird
AR MR =% B1J AR
AT T 3R 1R T

| | AR e Al

= — e SR

$ (B) Widg of a bat and forearm of human
| AR AR F TR SRS
' AT ST R TFCER AR
- . AR e 3R AAty R marg
- =TRE ¥ YW T §EE ¥ e
(C) Forearm of a frog and forearm of a lizard
(ST TR SF (ST TR
AT *ARIE G3: TFfea “TaaE
Ty Rt o o ety Rt o
‘, Yz % 7 fovwed & T
‘ } (D) Wing of a bird and forearm of a frog
I

HIRI R WF (SFAR WA
R T GR INER ARR
4 9&ft F 9@ Td Aew & T

L 44. Who put forward the theory of ‘natural selectién’ to give the i
1 - evolution of species in the 19th century? = € idea of

Tt =fSeTS “‘ARFREF BT el erenfet Tesfeg ym
s ? “ﬁ“‘m‘m

i | o FTARCT 2

Wm‘mﬁa‘tﬂ’-mmﬂmmt:ﬁm ARGl MW@

103B
i [ Contd.
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oy Shereara At e’ i forrg BT
NN ?mmﬁﬁ%ﬁﬁammzﬂqﬁ@mﬁm
Wﬂfﬂ@ﬁ%@‘mw’mﬁaﬁm%ﬁmﬂaﬁmﬁa

(A) Charles Darwin / trfy SRE3 / b TREEA / STeid SSH /
.{ ey SifdA

/’B)/ Gregor Johann Mendel / fioR (&= (H0we / (3917 (R (09 /
R 9'gA Avde / IR ST HEd.

(C) Stanley L. Miller / &1 <=1, fiwir / 813t @1, et / 3t T,
firem / =9 T fier

(D) Harold C. Urey /1'% f3. 3@/ g . @/ wWes fa. R/
Fes o R

45. In a Mendelian experiment consisted of breeding a tall plant
bearing violet flowers with a short pea plant bearing white flowers,
the progenies all with violet flowers were obtained. But almost half
of them were obtained to be short. This suggests that the genetic

makeup of the tall parent can be depicted as

bl (O ARrFTe qOE @Y FHANRI 8 T=I GICS 39N FoAA GO b
T4 TR RISV WIece ABIRER Teoffe or @gA FH4R (ol
S’ 1 199 A1 Ol Sy SRYS 69 AR RPN (R o'H | G Felrged
YRS o1 (1001 fa YRS @Y CoifdF srze wifee 3fer 493 =1 I 2
M (TUFR ~ArFre 3 @SN PR T MR R A FoRA 7o
(RIG 59 SCRA AT WIS SRS Teonfrs e @M Faa@t onewm o |
g o SRE IF S T SR O ANSH (976 | G2 FoARFER UL
Neva @ & gt o7 teifds o feet et 4|1 I3 2 |
fEr M A9 TEE TYE S @EewE FhmR TR e meE
A & frusf fumE TeRR TR SR ST e -
fywreTa SHA QT TEH! g7

ea ¥ ww AW # R AR F 9 fd S g K, 1 e 9 D R
T T A, A 1 T §Th Fafd F o Dt & g7 S Q) wig s
A T e AR ) T T T GEA 2 B A I Dt ) e

= ot

Mww (B) ttww O TtWW (D) TtWw
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SECTION—B / §—1< / 4—1 / G—=rertt / @—Hm

xidation

(@) What do you mean by redox reaction? Find out the o
1+(%e+%4)=2

l and reduction half-reaction of the following :

o @3 R e of R g2 SR REFICOR o[ @< S e

i - RTHT A1 Sfeve

It ¥ Rigm e o amvﬁmﬁﬁmﬁcqum\ﬁwci

‘! J (@R T8 :

| toFg e geten W zﬁﬁr? TRER RrnuEREE SR

| I ARFTAR TRmE TEE’

) mmﬁm@mwmﬁﬁ?ﬁnaﬁmﬁmﬁaam

| ; u=ida vemel it ggam HINT EX i
i Cu0+Hy B8t CutH,0, msl
B |

Write the formulae of quicklime and slaked lime. Ye+Ve=1

¢ 1 I RS pera e o |

correr 51 3% PAfafErS peea Sieee ceed |

TRE gy IR MY AR wogen for

T3 T T FARF o H Hehd ferae

N A

ExE

Write the chermcal equation involved in the dissolution of HCI in
water. Name the ions formed in this reaction. , 1+1=2
HClWﬁ‘wammﬁmmlm‘%ﬁm

21 ARACIZOR AN fordT 1
HClWﬁwwmwmmﬂmﬁm@mﬁﬁnﬁrmﬂa

iemweﬁawcaWI
HCl%mﬂ%mmmm&ﬁmmﬁumm
AREE EARRE g R .
aaﬁHCl@qﬁaH?ﬁawﬁmﬁmaﬁmahm|mﬁ
mmﬁ%mﬁiﬁm

B24—GS/103B [ Contd.
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“of: at do you mean by allotrope? Write the names of two allotropes

ot-carbon. How do they differ structurally? = '~ 1+(4x2)+1=3 "
mﬂiﬁlﬁ‘ﬁ%qm?wiﬁmﬂawmlﬁiﬁw fefas
(FCTR |2 = i

Wﬂw—ﬁﬁmvw wvﬁmmum@ﬁm
W%Il@?j%q SN E Eﬁ

Wmﬁmgﬁiﬁ?mﬁwﬁtﬁﬁmﬁgﬁmaﬁtmﬁmﬁﬁm
TSR HRM?

ST § mwmé?m%am%mmlmw
ﬁz’wﬁ%@w%? |

o /ﬂ/ What is amalgam” Name the two metals present in bronze.
Is bronze an alloy? ' * L %+1+1/é-2\_‘
T 12 2 <71 4 o W a1 @' eI g gmﬂv |
SO N2 @Y AR 4TS 1A W Gl | @ i 4 2
wmm?aﬁmmu@ﬁﬁﬁgﬁmwanmmmﬁm?
Wwé?mﬁmamﬁ%mwlwm@ﬁm@?

50. What is thermit reactlon'? Write' the reactmn 1nvolved in it.
Mention one use of it. L+1+14=2

_ ol RifdE 5 0 WWW@WHIW@&W%W
IS R B2 @ TEE T @ | @7 G AR @A |
S " onfife R T AR TR TR o) 3 9 awrEE R
- afife fifiran = &7 vl afte arfifen 91 faftae) vee o SvEm R

. What is effective nuclear charge? How does effective nuclear
~ charge change in group and period in the Periodic Table? 1+1=2

Wmmmﬁ”WWWWWmaﬁwm
GBS (FCTHCR oA 20 2 <

TR HEH waw N2 WWWWWWWQ\W

Frera «fFafde =2
g fiefemr aeien m? i a@ammﬁammmm
AN st e ST 37 o Wﬁ 3 m(e o e f: e T
Wl aﬁm%@qﬂaﬁa'@m%? _
s B24—GSIIO3B
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% A doctor has prescribed a corrective lens of power +}'5 D: Find
' the focal length of the lens. Is the prescribed lens diverging or ]
converging? 1+1=2

OrET s Ry sgen @ T8 +1'5 D. ERIH FIR
ot e 1 1 @2 (o SRR A SRt 2

ST O R4 (R S A1 AR e wwel +1°5 D.
@GR PR ey FefR e | % oG SR 1 PR 2

TR TR 39 g Ao @remen Al e +1-5 D. & & &M
STReTEE g | el S Smaen e drai A 3@ A

S SR +1-5 D &A1 F1 GO o Auffa w21 o9 i wed g I
Hifte| T Fuifa e sfmem 2 stgar sead?

. Explain two ways to induce current in a coil. 2
/ T 2A1 ARG T P TWM TN goam

TUCS 2R SIRE FAR 70 Tom I ¢ | .ﬁ%

TR WEAE IER FIAARE WA TE e |

el et 3 fagema S 1 % 2 g1 e

54, (@) Give the names of two energy sources that you would consider
to be exhaustible. Give reasons for your choices. 2

it =g 31 Reaor 741 =% 11 Tor 79 TEy 90 | (TR R

IR 7ol | A

R I3 RN 741 7o < B W A A | (R 1=

P13 S | '

;ﬁ@qﬂ?ﬂﬂﬁﬁ A @A Seern TieH $ant § ' S ame’ i
|

R 3 I At % AW fAfe, % o T 7 §) o = ¥ R

&+ <ifm)

Or | T3/ et/ Taw/ sreran

(b) What is the role of decomposers in the ecosystem? D)

AR wFe R g 2
AR v Rerawa g R 2 oIS
Frenars feranfa SRy fgmen my B
qiftes & STqETSi <A T e 77
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melnear point of a hypermetropic eye is 1 m. What is the power of

; ens required to correct this defect? Assume that the near point
of the normal eye is 25 cm.

T 28 53 B A P R 1 m, % AR SRR A TS G
WWW?@W%WWWWZ5cm.
T‘Eﬁ%@ﬁmwﬁ@%ﬁﬁ1m.ﬁmmmaﬁwm
R T S| F 7 474 7S FOIRF (GITR &0 w6 R 25 em.

T 30 (errieR) el @y Reden 1m. 3 MR S
T ST S v Sai? g o W SR @y e 25 em.
T MR A N W P fg 1m 21 @ A9 9 witE w9 F fo
Tﬁﬁwﬁmwﬁ%wﬁﬁm%wﬁamﬁmﬁ%

cm el

A copper wire has diameter 0-5mm and resistivity of
1.6 x1078 O m. What will be the length of this wire to make its
resistance 10 Q7 ac

IO Y $RT TP 0-5 mm F @l 1.6x1078 Qm. 10 Q Q1Y
AT AR X SREER o e 2'3 AR 2

9F SR OER IMT 0-5 mm 9R @EFSl 1-6x1078 Qm. 10 Q @
NETR T W2 ORMGI (7 IS 29 7IFE 2

R wR TRA wE TERn 05 mm AW THIAREIR AR AET
1.6 x1078 QO m. ¥ Fure 10 Q TR F TRA FRYUEE W= TAFAT
frt afY % 9R W =™ 0-5 mm q SRuEar 1.6 x1078 O m ®1 10 O
TRy =1 SRus T ¥ R fFaR |9 ar 6 smavasar gl

j./ (@) Explain why the sky appears dark instead of blue to an

astronaut.

TIIMOR T TRIPR R VTR RS 371 ey ¥ 2

GFE TIIPORA TR R TVA-97 RIS @ I (g2
foreft afafer-anht A s Hid hit e Fren @ wdia B 27
Explain the Tyndall effect.

fores ARIGCE IRM F |

forea ofAet= TrRm F¢Al |

fvdah MemE sEa| -

fege TG 1 qUA I

1%

1%
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{
|

BE Suppose three resistors Ri=50, Ry=100Q and R3 =309 arc:
I - connected to a battery of 12 V in parallel. Calculate (@) the Cun'enl%_S
I through each resistor and (b) the total circuit resistance. 1%+1%=

QXA RRG @ Ry =50, Ry =100 WF Ry =30 Q @b 12 V3
CORR BITS STABA SFewrs w91 020 | () A6 @ e
/| PIfSTS (R 2R T Sfvea W (b) TERGR P @1 SFhed | |
W X R @ Ry =50, Ry =10 0 @ Ry =30 Q «f6 12 V-7
JIORE TR TG e TN I 2R | () A s w e
| , OIS 28H1 eI T Refiy 3 @3k (B) TR A e B T |
| TR AU AW OR; =50, Ry =100 ¥R R3=30Q @ 12V R
;'., R Bl Rl TR TR (@) S R Y e
il TR TH RET R (b) Wi mé Fureh g ,
| W T R vt Ry =50, R, =10 Q 3k Ry =30 QM 12V A
40 A TR #F FARE B T R0 (o) YRS TR ¥ waia fga-uw
T (B) IR F Fol WY 7@ Hf) ERRE

Or /| 31331/ we=y/ Tar/ Sterar 5

An electric heater of resistance 8 ! draws 15 A from the service
| mains for 2 hours. Calculate the rate at which heat is developed in
i the heater. 5 3

| 80 AR bl IS R 2 9B BT (T *RT 15 A #RIR o | BRI
O Beow (AR T Bferaan |

) 80 @I b (agfes Aow 2 961 TS @A (AT 15 A [ W |
e O Beom 2eTR TR FefT 7T , ,

8 Q Romi W@ i gEm 2 T=EE IR FafiwE 15 A WfRw TEr
T R | GETETE e TR fg shmaret g

(i 8  witd = K forggq et g # & 2 R 7% 15 A forgg-um v 21 @
e B # I T ) T afewiora AR

. Suggest some approaches towards reduction of consumption of
various natural resources.

RAfen @R AP TR IR T TRt Ry Toms e 71
R T SRFfSF ST T T I & g, Toms 5@ e |
mﬁﬁ@wﬁﬁ%ﬂw@ﬁm@mm@m@@m%
faftr ST el T ST T E % R 3 s g

=
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2t . theere iire gastric glands located? What role does the secretion of

i W;%i{:n ds play during digestion? : 1+2=3
' TS AT o ' orfe

i SR T 37 2 R AR@E e = omebTR #m

TrafRsB e
S oy 07 R afReBr R o o 1l R
1y Freeer TR

M R Ty aTR? 3 fadEer i@ gae Ieie e S

%@wmmﬁ?w%mmmmmmﬁﬁm

Or | %31/ Gt/ var/ sreran

Name the numerous finger-like projections present in the inner
lining of the small intestine. What is the significance of presence of
these structures in large numbers in that region? How is the
absorbed food taken to each of the body cells for obtaining energy?

- 141+1=3
TOFE e @qo @ Ry MR- gada AW a1 GXAR = S
RS FUER CIY WeeTs R 9FF 1 2 2Afehl (rReand NS SR o[
FCTCR ¥ 23 I3 7
FUF Rooram TRTS ARl SpiRa SEfer-oTp 2eda AW Tl | @2 SR
R FANT 12 T YR 97 97 26 oream onis e (o
FreCI =& =27 33 2
frgafy ity smeriteme amyey onfy weth eemerRf § for) SeR T
SoicnoicleceIciCiDCicoiiDin piniic RS e i L CIICH I EEiieR)
TEaE@ T JAERHE A= wie A== §@?
EF STl R W I IH a1 30F et FQ waet F AW w4 g2
: g5 % 3@ v B T T 1 W 8w w wae 87 I W FA %
i o STamfia Hisg 1 A T Al T HIRTER a6 TGS ST 87

61. Draw a longitudinal section of a human heart and show with arrow
markings the course of the flow of blood through it.

Tz TER b1 orefewen o i oo 7/l WA Wewed (R oA
g1 fofzs =4 |

TR T I ey Bu die Sz ww @v ww i wew
oyl ol Fea |

AR fgaf A T AR JETR e B st af st 4f awr
AerE et B

e 7ed % Igeed FR H Th A TR ik fuw g i e & wEw
= fufga it
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Or / 723t/ we3t/ war/ sreram

What is translocation? Name the plant tissue that is involved in
this process. _ 1+1=2

T ¥ 7 o afer o wfve Sy W B |
TR 2 9 AR ST wive SRR W el |

STRAT! WIEEHR /17 3} Wre@-as it A ot fremi g R
TG 01 87 39 Wik A 9= wrey Faeh 1 7w fifaw)

/Z/Draw a nerve cell with proper labelling. How is an electrical
impulse created and in which direction does this impulse travel?

What function do these impulses perform? 1%+(%+14)+14=3

TREe e *R e @B =R ik | apiee R @ iR =/
HF % (RN @ e aifS 3, o 1 % ceRenans B I 92

e BfEe 3w w3 FRrEEs WR U | Epiee R Ferd R =
TR @R (RN FRMCT IS IR, @1 @ el F e : 2

AR dod e o Rrafe TR gramit anfa) fifREmR SFcife
m@gﬁmaﬁmmﬁmmmmmm&m
e W

W T F WY T A PR B R 95 T e o w3
‘ #@?%Wﬁwﬁﬂ%ﬂﬁmﬁﬂﬁﬁﬁﬁmmmwm
ST 87 , .
' Or / 7231/ 931/ Tar/ srear

What are plant hormones? Give an example of a plant hormone
that promotes growth and the one that inhibits growth. 2+(%4+14)=3

TR AGRA MR & R 2 Oewe I sl @ @Ry SRt s
i 3 1 e o GRy IERR w1 Trrge i o

SRR A& s F R 2 WRow Face AW 30 G AGR oy
R RS 4 RS T G G o Tarzad s |

mﬁmmm? WEHA AREAEE TR B R won
ARG =2 el T9H 7 g i ‘ anﬂ

grlﬁaw%?@wmﬁ?mm?ﬂm ﬁ?ﬁiﬁm%wqa;
aﬁq%ﬁwrazﬁmm%l e ’
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63/ Gji . . )
'/ Give two Points of differences between binary and multiple fission. 2

ISR e wefreree w1 erwen B |
R-1e 1 f-Remem R IRRSEHCR 704 7o 2T e |
A VT IR v R A e R
fwen st sgee 3 A sim we St
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Why is DNA copying an essential part of the process of
reproduction?
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What are fossils? How do fossils help in finding out the route of
evolution? ; 1+1=2
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How did Mendel recognize the ‘dominant’ as well as the ‘recessive’
characters in his experiments? Discuss with suitable examples.
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